Opened:	April 4, 2016		Local	Local	Local	Non-Local
For:	Annual Contract for Vehicle Decals			ACLSA, LLC	Chromatic Custom Graphics	
6100007172		DG	1011 N. Frio St.	435 Isom Road Ste. 220	9207 Marbach Rd Ste 302	3161 SE Slater St.
Marra	Description	Estimated	San Antonio, TX 78207	San Antonio, TX 78216		Stuart, FL 34997
Item	Description	Annual Quantity	(210) 212-3123			
1	Vehicle Decals, Small Decal Size, 5-7/8" Diameter					
1	5-7/8" Small City Seal Decal Small Decal Price Per Each Extended Price	348	\$1.71 \$595.08			
2	Vehicle Decals, Large Decal Size, 10" X 10"					
1	10" X 10" Large City Seal Decal Large Decal Price Per Each Extended Price	1000	\$6.56 \$6,560.00			
3	Line 1 - City of San Antonio Text					
3A	Line 1 Text: City of San Antonio BLACK Price Per Line Extended Price	2000	\$2.09 \$4,180.00			
3B	Line 1 Text: City of San Antonio WHITE Price Per Line Extended Price	24	\$2.09 \$50.16		<b>•</b> • • • •	
4	Line 2 - Department Name					
4A	Line 2 Text: 1-19 Letters BLACK Price Per Line Extended Price	1500	\$2.50 \$3,750.00			
4B	Line 2 Text: 1-19 Letters WHITE Price Per Line Extended Price	24	\$2.50 \$60.00			
5	Line 3 - Department Name Continued					
5A	Line 3 Text: 20-39 Letters BLACK Price Per Line Extended Price	10000	\$2.38 \$23,800.00			
5B	Line 3 Text: 20-39 Letters WHITE Price Per Line Extended Price	24	\$2.38 \$57.12			

Opened:	April 4, 2016		Local	Local	Local	Non-Local
For:	Annual Contract for Vehicle Decals		LSST Media LLC dba Lone Star Media	ACLSA, LLC		Graphic Designs, Int. Inc.
DG		_1011 N. Frio St.	435 Isom Road Ste. 220	9207 Marbach Rd Ste 302	3161 SE Slater St.	
ltem	Description	Estimated Annual Quantity	San Antonio, TX 78207 (210) 212-3123			Stuart, FL 34997
6	Numbers					
6A	2" NUMBERS - 0 TO 9 BLACK Price Per Each Extended Price	12000	\$0.40 \$4,800.00		-	
6B	2" NUMBERS - 0 TO 9 WHITE Price Per Each Extended Price	72	\$0.40 \$28.80			
7	SET-UP CHARGE FOR TITLES NOT IDENTIFIED					
1	SET-UP CHARGE Price Per Each Extended Price	1	\$0.00 \$0.00			-
	Delivery and Service					
	A. Initial order items must be delivered within business days after receipt of order. (Maximum acceptable is 30 business days.)		10 days	5 10 days	20 days	30 day
	B. Re-order of same items must be delivered within business days after receipt of order. (Maximum acceptable is 7 business days.)		7 days	6 days	7 days	up to 21 day
	C. Re-stocking orders are placed every days on (day of week).		every 7 days on Tuesday		every 5 days on 1st (day of	every 15 days on Monda
	Total		\$43,881.16	\$49,681.68	\$72,092.56	\$91,449.6
	Prompt Payment Discount Discount Applied Total After Prompt Payment		2% 15 days \$877.62 \$43,003.54	0.00	\$1,441.85	\$0.0

Opened:	April 4, 2016		Non-Local	Local	Local	Non-Local
For:	Annual Contract for Vehicle Decals		Modern Edge LLC dba Automotive Discount	SAT Radio Communications LTD dba Industrial	Thompson Print Solutions	Toronto Digital Imaging Inc.
6100007172		DG	Specialists ADS 16102 University Oak	Communications 1019 E. Euclid Avenue	5818 Rocky Pt	2201 Drew Road
ltem	Description	Estimated Annual Quantity	San Antonio, TX 78249	San Antonio, TX 78212	San Antonio,	Mississauga, Ontario, Canada L5S-1ED
1	Vehicle Decals, Small Decal Size, 5-7/8"					
I	Diameter			NAS		NAS
1	5-7/8" Small City Seal Decal Small Decal Price Per Each Extended Price	348	\$4.36 \$1,517.28			
2	Vehicle Decals, Large Decal Size, 10" X 10"					
1	10" X 10" Large City Seal Decal Large Decal Price Per Each Extended Price	1000	\$6.89 \$6,890.00			
3	Line 1 - City of San Antonio Text					
ЗA	Line 1 Text: City of San Antonio BLACK Price Per Line Extended Price	2000	\$5.93 \$11,860.00			
3B	Line 1 Text: City of San Antonio WHITE Price Per Line Extended Price	24	\$5.93 \$142.32	• · · · · ·		
4	Line 2 - Department Name					
4A	Line 2 Text: 1-19 Letters BLACK Price Per Line Extended Price	1500	\$6.84 \$10,260.00			
4B	Line 2 Text: 1-19 Letters WHITE Price Per Line Extended Price	24	\$6.84 \$164.16			
5	Line 3 - Department Name Continued					
5A	Line 3 Text: 20-39 Letters BLACK Price Per Line Extended Price	10000	\$14.04 \$140,400.00			
5B	Line 3 Text: 20-39 Letters WHITE Price Per Line Extended Price	24	\$14.04 \$336.96			

Opened:	April 4, 2016		Non-Local	Local	Local	Non-Local
For:	Annual Contract for Vehicle Decals		Modern Edge LLC dba Automotive Discount	SAT Radio Communications LTD dba Industrial	Thompson Print Solutions	Toronto Digital Imaging Inc.
100007172 DG		Specialists ADS 16102 University Oak		,	2201 Drew Road	
ltem	Description	Estimated Annual Quantity	San Antonio, TX 78249 /			Mississauga, Ontario, Canada L5S-1ED
6	Numbers					
6A	2" NUMBERS - 0 TO 9 BLACK Price Per Each Extended Price	12000	\$0.36 \$4,320.00		\$0.14 \$1,680.00	•
6B	2" NUMBERS - 0 TO 9 WHITE Price Per Each Extended Price	72	\$0.36 \$25.92			
7	SET-UP CHARGE FOR TITLES NOT IDENTIFIED					
1	SET-UP CHARGE Price Per Each Extended Price	1	\$75.00 \$75.00	-		
	Delivery and Service					
	A. Initial order items must be delivered within business days after receipt of order. (Maximum acceptable is 30 business days.)		14 days	15 days	20 days	15 days
	B. Re-order of same items must be delivered within business days after receipt of order. (Maximum acceptable is 7 business days.)		7 days	5 days	5 days	5 days
	C. Re-stocking orders are placed everydays on (day of week).		every 28 days on Monday	every 5 days on Tuesday	not specified	every 5 days on Monday
	Total		\$175,991.64	\$37,990.80	\$66,516.56	\$27,594.84
	Prompt Payment Discount Discount Applied		Net 30 days \$0.00 \$175 001 64	\$0.00	\$0.00	\$551.90
	Total After Prompt Payment Estimated Annual Award		\$175,991.64	\$37,990.80	\$66,516.56	\$27,042.94